
Securing cargo. We invented the concept.

80
19

70
 2

01
5-

08
-1

9

Stor trumma TU / Big drum TU

Band 50mm / Strap 50 mm
Part No. 801970/
             802311



DescriptionBeskrivningPart No.QtyPos.
BIG DRUM. STRAP = 50mmTRUMMA STOR. BAND = 50mm40195211
LOCKING NUT M10 FZBMUTTER LOC-K M10 FZB 80016532
HANDLEVEVHANDTAG80018513
SCREW MC6S 10x55 FZBSKRUV MC6S 10x55 FZB21161114
SCREW M6S 10x75 FZBSKRUV M6S 10x75 FZB  21107815
LOCKING NUT M8 FZBMUTTER M8 LOC-K FZB21185526
SCREW M6S 8x60 FZBSKRUV M6S 8x60 FZB  21104727
LOCKING PINLÅSSPRINT80198018

DescriptionBeskrivningPart No.QtyPos.
BIG DRUM COMPL. STRAP 50mm TUSTOR TRUMMA KOMPL. BAND 50mm TU8019701A
STRAP 5 TON 10 m INCL. TRIANGLEBAND 5 TON 10 m INKL. TRIANGEL7800501B

Securing cargo. We invented the concept.

80
19

70
 2

01
5-

08
-1

9

ExTe Fabriks AB, SE-820 41 Färila Sweden. Tel: +46 (0)651 175 00. Fax: +46 (0)651 175 03. E-mail: info@exte.se www.exte.se

Band 50mm / Strap 50 mm 
Page 2 

8

76

7

6

2

5

4

3

1

2

Låsning av band / Locking the strap

 

2

 

1

50Nm

50Nm

25Nm

25Nm

200

(3
46

)

Vikt / Weight: 3,85 kg

A

B

Part No. 802311
Vikt / Weight: 4,91 kg


